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Second Senester B.Com. Degree &ramiaatioa,
September/October 2O2l

(CBCS _ Semester Scheme)

Conmerce

Paper 2.3 - ADVAilCED FTMITCIAL ACCOUNTIIIG _ (AFA)

Time : 3 Hoursl
[Max. Marks : ZO

,##:: to Candidates : Ansu.ter shoutd be uritten completetg in Bngtish or

SEC?IoN_A/sqDri_.)

Answer any FIVE questions. Each question carries 2 marks :

otngo'add.o, od; dgldrt uuIO:,. d.gotoodd/* 2 rrodrtdr :

(a) What are domestic branches?

ideob an odridc ;odderb?

(b) What is an account Sales?

'Jooud erd' Doddedr?--t

(c) State any two features of debtor system of accounting.

norod etd* ddoSo$ nddr ode0rl{d{3e:r

(d) What is over insurance?

*)ed a)eod ed) aoddedc?

(e) State the methods of accounting for Joint venture.

riouD ddd6-e0dobo_ odio.rd).J elaa*aadd seadrlgdt a)ddrB.

(0 Why is memorandum trading account prepared?

J.:d.ooaroddf -D6aad tl:dgobdt ed dorD0derDfuild:?

(g) State two objectives of departmental accounting

Sryrneob ddraiadd idd) sudjdrldd{.So:'

l5x2=16;

I

1/ 10

il.\
I



6322L

2

SECTION-B/sQad- 6

Answer any THREE of the following. Each question carries 6 marks : (3 x 6 = 18f

obDd)oaddn d)^& 4dlddrl gt8oi. 43 ioolDd oqddr6 eoddeb:

Ca1culate the Branch profit (dependent Branch) from tJle following information.

Particulars t
Opening balances :

Branch furniture 40,000

Branch stock 6,00,000

Transactions during the year :

Goods sent to the bralch 12,OO,000

Cheques sent for branch expenses 50,000

Goods returned by the branch 20,OOO

Remittances by the branch 13,85,OOO

Closing Balances :

Branch fumiture
Branch stock

dr dddod dD&goq)od earro$

1

orJdd{

eddrld)

rrdoCd 8el)r :

sdaro$ &ednedddr?

saejob arBdr

ddrd dodaaddd.r :

aaJtl d$3ond idd)
eerd $drFderDh dsb&nd ?tdrld)

saejogrod &o6dch dald idd,:

slaJoorod ddd drld)

oodrd teu, :

aeeJo$ 
"ied.ocdddr?

aeJo$.rJDdJ

35,OO0

6,50,000

dodr &Bd;o :

40,000

6,OO,000

(

t
I

a
12,OO,000

50,ooo

20,000

13,85,O00

35,000

6,50,o00
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State the basis of allocalion of the fonowing expenses in departmentar
accounting.

(a) Repairs and Insurance of Building

(b) Depreciation on plant and equipments

(c) Light charges

(d) Reserve for bad debts

(e) Labour welfare expenses

(0 Commission on sales

dddod aelarra Jd;lddl daa.aadd edo$ doz3enri:dd 3d,t :

(a) dt^Id 6deD;irdl sd)

(b) obod,,.Ecdddr?d dre0d ndd€

(c) $&ddE e)abFrldJ

(d) dld)D:.d d-aJoerarld raorid.)

(e) Foa)Fd dsDda Jdrr

(0 dDoatjd d)eod Jrl.r

Bhaskar consigns 1,200 units of a product costing { 3OO each to Chandan. He

incurs ? 6,O0O for carriage expenses. 60 units of the product are stolen in
transit. Chandan receives the remaining goods and sells l,O2O units at
( 460 per unit. Expenses incurred by him amounted to 7 4,260, the entire

amou[t being non-recurring. He reports a normal loss of 24 units. Find the value

of abnormal loss and closing stock.

Aa-^,rc,6dddr {,goloodr do-af,rd* dr. 3oodod 1,2O0 dcndrrlddl tJodo6ddod ddi.dt6

drdlsad. eddr dr. 6,000 rao/lrnh ddd)iddJ' 60 d6ddFrlcb Faolt i$obdq

ddo6Dd$. o)dd iddJrldd{ ddd.rdnod rJodnfddd; d-o' 460d{ a,oddod 1o2o

d6adFrlddr4 dooat: dnBdd:. sddr ddd)nd ?.ode zDool) irq dn. 4,260. eddJ 24

doEdFrldr FadDdd d{ilodr dd6 dDd}Bd. uododu d{ sart-o uoSdr reqd:rid d'od

dodr 3o6oo10.

4
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A'and ts'Entered into a joint venture to purchase btationeries and supply them

to colleges. They agreed to share profrts in the ratio of 5 : 3 and to maintain

books of A/cs for the joint venture under memorandum joint venture method.

A' and ts' purchased stationeries for ? 6,OO,00O and t 4,5O,O00 respectively and

sold them for t 7,5O,0O0 and ( 5,25,0OO respectively. Selling expenses incurred

by them are { 35,OOO and t 25,O0O respectively. No goods remained unsold and

frnal amount is settled by cheque.

Prepare necessary accounts in the books of 'A'.

'A' d:t* ts' eJe$d od.rfrid $0eA 6-drt u{rldd1 aaerebded idalrnta) dDdrJ EotS

ddd6?0rl r"doarBd d>Bd,,oodcb. eDqJdaq 5 : 3 drdottdd dotSd.ot{dlcf: arla dd*

Odddddt $droarodo tuoL3 JrJaad aqaddO-st$JA/0cbed6an t{d-ooddr

'A' drq ts' 4$-an dn. 6,00,000 aart-o d-o. 4,5O,O0O dpodd ereDd D$Drld e)OeA

dDAddJ Eart-o sdrrldd{ d,o. 7,50,000 a-artn dn. 5,25,OOO8J dD(,JuJ dDAddr. sdd)

ddd):d dDuau dd,r tdr-oh d,6. 35,000 6-drln dr. 25,000. otDildc dddr

dDudt;crerldc oudd"rdnoBer_ dd; tro3dr dng dlf dr:a:aodd d,Bdrto€nd,ood&. srig6

,Ddridd{'A' Oddrls,gdoj.Dos.

On June lO, 2O2O a frre occurred in the premises of Mr. Cherith and a
considerable anount of stock was destroyed. The accounting records that were
saved from fire disclosed the following particulars.

Stock on 01-01-2019 1,50,OOO

Stock on 37-72-2019 1,80,000

Purchases for the year 2019 8,O0,OOO

Sales for the year 2O 19 1 1,OO,OOO

Purchases from O1-01-2020 to |0-06-2020 3,SO,OOO

Sales from O1-Ol-2O20 to t0-O6-2020 4,8O,OOO

Stock sa-lvaged 14,OOO

Policy amount 2,50,OO0

Find out the amount of claim to be made.

6

a
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cm6r6 10, 2O2Ododt rjo36ddd a-goeedO zJoE ioC.ti FaddA {,J,Deod nd$ 6a0otDo$dr,
Eaodrod cudd)dood eld*d$rldr doddod $ddrlddl dneond :

$Jdrldr

E,aBdJ O1-01-20lgdodr

6DEdr 31- l2-2O l9dod)

2O19d0-a)Oeb

2019dO dD@oJ

01-01-2020 ood 1O-06-2O2Odddd oOeA

O 1-O 1-2O2O ood r0-O6-2o20dddtl d>o[l
a06)od sufr)*,.ood iddr

&dD sO:, *,od

1,50,oo0

l,80,ooo

8,OO,OOO

11,O0,000

3,50,000

4,80,O00

14,OOO

2,50,000

7

$dD itestr *,od dodJ &Eo9r0.

SECTION-C/eeDd-n

Answer any TEREE questions. Each question carries 14 marks : l3 x 14 = 421

olo$oddo drndl dSldrl sr{On. {,3olaod.r {,Cnrl 14 sodrid;:

Nishanth Ltd. suffered loss of stock due to fire on 15s May 2O2O. From the
following information, prepare a statement showing the claim to be lodged :

Stock on 01-01-2019 38,4OO

Purchases during 2O19 1,60,000

Sales during 2O 19 2,02,600

Closing stock on 3I-12-2019 31,800

Purchases from 01-O1-2O2O to 75-5-2020 54,OOO

Sales from O1-O1-2020 to 15-05-2O20 6l,4OO

An item of stock purchased in 2018 at a cost of ( IO,O0O was valued at I 6,000
on 31-12-2O18. Half of this stock was sold in 2OL9 for { 2,600, the remaining
was valued at t 2,4OO on 31-12-2O19. One - fourth of the original stock was sold
in March 2O2O for < l,4OO and the remaining stock was considered to be worth
6O% of ttre original cost.

Salvage was ( 12,O0O. The amount of the policy was ? 30,000 and there was an
average clause in the policy.

s/ lo
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&aod Oer8d. dx 15 2o2odod doE@)o@n fddo d{ijdt sdrqj$:r$. dt ddnd

sddrl€od, d*d06ad deAd dtlobd.ldobo:, :

6aedr O1-01-2019

2019d Do(addr

20 19d dD udt Jrler,)

t ogd) ra;-adJ 31- 12-2019dod:

O1-OL-2O2O Ood 15-5-202odddnd $Eearisb

38,400

1,60,000

2,O2,600

31,800

54,OOO

O1-o1-2O2O Ood 1s-Os-2o2odddnddooa[rridc 61,4OO

2018dO_ DOrAid idEd d-rJ. 1O,0OO zjero! r"od: eDrldd{ 6oaod 31-12-2018dod;

dn. 6,OOOdodr dflOredoienhd. dr idEd t dFdEp4 2019dO- d.o. 2,600d dsoaer

dDdcDnd, sudd ndEd zJcro$d{ 3l-12-20L9dodl dD. 2,400 aod: diOred0denhd.

d:,oer ndSd uoerrde z"odr parlddl dnaf r 2O2OdqdD. 1 ,4006d d.DqetJ dodoahd. d;d;

oued iddr droe.r zJdo$ de. 6OdA* ed{dodr &Qrfrond. iod&nd ndil dD.12,00O

EaOSob drg d,o. 30,000 $dl Eao:obo_iudio dodD ed.

Bangalore H.O. of a company invoices goods to its Kolar branch at cost plus
2Oo/o. ThLe bralch also purchases independently from local parties for #hich
payments are made by H.O. A1l cash collections of the day is remitted by H O.

through a bank account and all expenses of tJle branch are directly paid by H.O.

From the following show the Kolar branch A/c in H.O. Books.

8

,|

20,o00

18,500

2,50,OOO

2,40,OOO

1,60,OOO

6lro

I

Imprest Cash 01-01-2020

3t-72-2020

Debtors on O1-O1-2O2O

Stock on Ol-Ol-2O2O :

Transferred from H.O. at invoice price

Direct purchases by Branch
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Total sales

Cash sales

Returns from customers

Direct purchases

Goods sent to branch from H.O.

Transfer from H.O. for petty cash exp.

Bad debts

Discount to customers

Cash received from customers

Bralch expenses

Stock on 3l-12-2O2O :

Directly purchased by branch

Tralsferred from H.O. at Invoice price

degS dd& o7-o1-202o

3l-12-2020

0 I -0 I -2020dod: aberddo

01-01-2020dod; idd: :

dqad dqre0d)od (Invoice Price) :3edD:,d.r

sae, ded DOeAnd)6

(

l7,50,ooo

4,50,O00

30,000

4,50,O00

6,00,o00

25,000

10,ooo

20,ooo

r2,50,000

3,00,o00

1,20,000

1,80,000

I

I

L

alorldoodd dqdd dqreod)drd r"odr dod0olD dd{ d-oeerdd Eaeril ldddt t,iod $ee,

ge. 20dod ieond lDurLJ zjerol)od d-a&ir8d. urerob ib€(ob e)6(Aried drqad dqle8

deeddlioooJ) dDd8d. saerob dddoAd Jrdaadridod dend rcra_drldd"r uode {,oad

dCort dc*Fddd&d reero$ rerd- or$rrlddl doad dqreo d.od.8d d, ddnd dD€ogo$d{

Dd:, {ead ddeo O4ddo-dJo(et d srerol) erdddd{Ddd)0.

20,000

18,500

2,50,000

2,40,OOO

1,60,OOO

!

t
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N"fD.rdDudU

drld) dDoau,

nodErl$ :radil. dDad nddJ

dcd ooea

{Oad dCeOord (lnvoice Price) uaal :3edOld

uaelotr r!eg, D?3FrBA gead dCeo ddrSo:,&6

ddd) De,

r$dridod dnt{'^,,ocB

hdrtdeod SedDnd drld)
oJ

addob ot$FridJ

idd)

17,50,oo0

4,50,o00

30,ooo

4,50,O00

6,00,000

25,O00

10,o00

20,000

l2,50,ooo

3,00,o00

.(

t

1
t

1
.,

31-12-2O2OdO ndtb :

EreJ deda.dn $orandr 1,20,OOO

{Oad dgle0ord (Invoice Price) dsadolndd: 1,80,OOO

202O, Ca1culate the departmental net profits.

Departments

Particulars A B C

9 Ttre Huge Bazaar Departmental stores has 3 Departments A, 'B and C. The
following information relates to the 3 departments for the year ended March 31"t

Opening stock

Purchases

Sales

Direct expenses

Closing stock

78,000

91,000

1,56,000

26,260

1,01,660

91,000

97,500

1,30,OOO

18,850

l, 16,350

39,000

61,1O0

78,000

9,230

46,930

The total indirect expenses of the organization for the above period was t 1g,200.
The indirect expenses var5r with sales.

8/ to
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d.)cf Dcsod sorlBob drrdr $sC eodrlddl d-ooAd. s$rlqr A, B drd.J C. d, dddod

dD6-dgd)od $sC qoaejdd oddrd eraddd.l Ss z*r 31, 2O2O8*dod 3oAd)O.

eenrrrisi.)

sddrl$ A B C
Itt

.rdoqJd rdFBdJ 78,OO0 91,0O0 39,000

Eaod idd.r 9 I,OOO 97,500 6 1, 100

iddr d.Doatr 1,56,000 1,30,000 78,O0O

ded oc$F 26,260 18,850 9,230

uo_drd mqdc 1,O1,660 1,16,350 46,930

r.t D"r d&oq a)r$FrldJ

sdoo@d-and.

do. l8,2oorlctr, dd.rJq DdrFrldr iddr dnoa[ld dreeJ

10. Darshan and Baskar entered into a Joint Venture sharing profits and losses
as 3 : 2. T?rey opened a bank account by depositing < 40,000 each. Darshan
purchased 8O0 kgs of an item @ ( 6O per kg and his expenses were < 13,000.
Baskar purchased a second item of IO,0OO kgs @ t 2.1O per kg and his expenses
were { I 1,000.

Expenses were met from private sources and purchases were paid from bank
account. Baskar sold 600 kgs of the first item @ t 100 per kg and his selling
expenses were { 5,50O. Darshan sold 8,O0O kgs of second item at { 5 per kg and
his selling expenses were ? 6,OOO. A1l the sale proceeds were deposited in bank
account and expenses were met from private sources.

Writeup necessary accounts in the books of the Joint venture.

dded d:d; eaird ooar FdeD.')dd) 600.3 uudddrdsaJtd erDd $Ji d{ldd.l* 3 : 2d
t &6"ddo dodAoe\,ed. rrJd) ?^rodoEf aDCo$6b4 Cdrl) 0,S aae))crdddJ dr. 40,O0O

erodd td: $DA&Eod. ddF6,6 8OO d.d.o$. 6cujod,l4g d.d.d. d.o. 6odod $oeAiJ3ad d,lir
d.o. I3,OOO drl.j dDilBd. aa-nrd 1O,OOo d.d.ob otjodr qe d.d.d. dr. 2.l0dG?
oDcbBJEad $dJ 11,0OO ddd;,,odJed d?.rJlddlarain d:,oerridod Cod$ed rrdd $OcA
Jt*ldd{ arajod erdd d)od aaUl;i:q d.

m{d dodode €cr3od 600 d.d.obq e,.s d.d.d dr. loodod d.DcDt, d.Dd. ctJa. 5,500
o!$F d,D.6sad. ddF6'6 rddde oUrod 8,OOO d.dobdl{,3 t.d..l d,o. sdod doour dn6do. 6,000 odJF dDAdJEdd,

:*.-i:;-ii*il,.-ff"'^";;.}?ff {,fl H.};Tl5.il:i*HX:..X
sddr,d E6Forrdr croa,3 suddd)d CrlddO-LeO:,.
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Kishan of Bengaluru sent a consignment of 2,000 articies to his agent Srin, 4
T\rmkur at an invoice price of { 30 per article. Railway charges, Cartage; dnd
lnsurance amounted to l Oolo of the total Invoice price.

Srinivas sold 1,5O0 articles at { 30 each and sent an account sales enclosing a
bank draft for tlre balarrce after deducting :

(a) his advance oft 5,O00

(b) his expenses t 5OO

(c) his commission at 107o on gross sales

100 articles were lost in transit and the Insurance Co., admitted the clairn
for t 1,100.

Show the Consignment A/c and Consignee A/c in the books of the Consignor.

aJorlda0d 8dd aoz^uddc 2,000 ol/o0t$riddl $$drOd gre0;ad aoardOd r,oia
o1}n&t.,6d dn. 30dod edoJrorf rJelrl daa&ilqd. sdd) E6rd6o$rf dero$ dedd 1odqp1
d.jcrdddrlerrl, roB znBild $3J S$rl DdJF dDBdJsgd.

tre06af edd) 1,500 o1)roa.,6ridd{ {/s obreur6d do. 30dod dJDudtJ dJ)a 'dDoaoJd'

eld, dd1 zoro# .cDr+l i&d ddr&n drur.r&ed. dsootJd ddrddl ddc&iraarl-
d, dd dododddldadilo€idJc)d :

(a) d:-rorld oad3 dr. 5,000

(b) ?"r.rl$errrridr do. 500

(c) ?"tqdJaootjd 10% daJedd

Dorlobo dddJ d.DendJd olDoe3frldr 1oo sddr "rdn dodoob d,o. 1,100 dnde))'

?"g"Jd{d. d,
d.rreot.

d)eo*od addridod dodrdoott's@otf d;Q dodro g@ot'fdldodroad drdddq
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